Chapter 6 Using All Three Forms Linear Functions
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Example Find the equation of a line with slope — 5 and y-intercept of 12. S\OPQ \(ﬁ_qcﬂvk
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Example Find the equation of a line with a slope ofg through the point (2,8). S\ - D0\ (\'t
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Example Find the equation of a line through (5,—20) and (40,50). S\ - 00 (\—t
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Example A line has a slope of —5 and a x-intercept ofg . Find the equation of the line. Write your final equation
in slope-intercept form.
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Example A line has the same slope as the line 2x + 9y — 39 = 0 and the same y-intercept as
y—8= %(x — 16) . Find the equation of the line.
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Example Graph all the lines that you found on the previous page.
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